


Spotlight Crawling on the Wall 
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A rotating beacon is 10 feet 
from a long straight wall. 
The beacon makes 1 revolution every 4 seconds. 
The light hits the wall at a distance of d feet from the point P. P

10 ft


Write d as a function of .
Then write d as a function of t.d





1. Interpret the distance to the right of P as positive d.
Discuss what it means if d is negative.




2. Use your intuition (NO FORMULAS!) to find values of d for 
 = 0, 
π/4, 
π/2,
-π/4,
-π/2.


3. What can you conclude about the graph of d vs. 
a. as  approaches the value of π/2?


b. as  approaches the value of -π/2?



4.	Discuss any symmetry you observe about d.


Spotlight Crawling on the Wall 





1. Write d as a function of .
Hint: First write a trigonometric equation involving d, 10, and . ______________________
Solve for d: ___________________
d




10 ft.







2. [bookmark: _GoBack]The spotlight takes 4 seconds to turn at 1 revolution.
This is equivalent to ¼ revolution every second or an angular velocity of π/2 radians per second.
Complete the table:
	
t
	

	
Number of revolutions

	
___sec
	
π
	
___ revolution

	
1 sec
	
___
	
___ revolution

	
4 sec
	
___
	
___ revolution

	
t sec
	
___
	


 


Write  as a function of t……………………………………. (t) = ___________________

3. Write d as a function of t: d(t) =  ___________________

4. Graph d vs. t for  −1 ≤  t  ≤  5.
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